Problem

The table below gives the results of a braking test.

Test No. 1 2 3 4
Speed 33 49 65 79
(kph)

Braking 5.30 14.45 20.21 38.45
distance

(m)

Use the relationship between speed and braking distance to
estimate the braking distance required for a vehicle traveling

at 55 kph.

A hand-drawn scatter plot of these data points suggest a
linear relationship. The calculator uses the least squares
method to find the line of best fit, y'=ax'+b, for data entered in

lists.
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This line of best fit, y'=0.67732519x'-18.66637321 models
the linear trend of the data.

Press & until y' is highlighted.

[enter] 55 ()] [enter]

232
18.38651222

The linear model gives an estimated braking distance of
18.59 meters for a vehicle traveling at 55 kph.

Regression example 1

Calculate an ax+b linear regression for the following data:
{1,2,3,4,5}; {5,8,11,14 17}.

Clear all data CICXS) —
ear L2
JiClear L3
Data : .
1922304 : |3
5 @ @ LECEN=
58 0M®14®@
17
Regression [quit]
[2nd] [stat-reg/distr] e b afa

CICIC)

31 2-War StaEE

LDAT A: LZ L= t
H0AT A: L=

FR: L Z L=
F:E‘EEEE:P?‘IJ: i YES
d=al+k CALC

CICICIO;
Press @ to examine all

the result variables.

a:
th=3
Sdrz=]

Regression example 2
Calculate the exponential regression for the following data:
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L1={0,1,2,3, 4}, L2 ={10, 14, 23, 35, 48)

Find the average value of the data in L2.

Compare the exponential regression values to L2.
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